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Yo Yt @1 / RAILWAY RECRUITMENT BOARDS
CEN 01/2024 - ALP/ ET0® Tieh! Uaie

Test Date 28/11/2024

Test Time 4:30 PM - 5:30 PM
Subject ALP Stage 1

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : RRB ALP

! ufg HANTG SRS BT ART 260 | WuH AR e Seael &1 GRT fbda g

Ans X 1116
X2 126
X3 96
¥4 104
Q.2

Ud §¢ 99 o [dhU] &l adls DI I 2175 cm? g1 99 P Hd Y81 &A% (cm?
) fHam grme

Ans X 1. 4305
X 2. 4530
X3 4272
¥4 4350

@ Uod SR 99 B UgTH B
Ane ?<1-qUTffﬁ{Liverﬂuke}

X 2. §id (Leech)
X 3. Flﬁ_sﬁﬁﬂﬁ (Seaweed)
v 4 3l (Amoeba)
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Q.4

Ans

= FT AR Myl oI AFgdD | 3TOh! A © [ HYT I d TG
qegt &ﬂmqﬂu?ﬁﬂé‘l?fﬁfaﬁ?ﬁaﬂq»«aru%%4-@/&4-@%@5@%@@%&?%%@@?

STUR 8/8 |
hY-:

it it 39 2l

B3 Ao, e e 8l

IBLGaE

() 7o R, SRfAr gl

(Il) B3 fear, Ao FeT 21

X 1. had Ry (1) HYFl & STIR ¢

X 2. 9558 (1) 3R (1) TF B & AFUR 8|
X5 A G sy (1) AR Al (1) YAl & STIR B

v 4 Had By (1) FUA & ATIR B

Q.5

Ans

el T3y &1 999 B3

a. 59 WA (aerobic) Ufshar & Fuil &1 fdHra= 3aradid (anaerobic) Ufshar
&1 garT H 95 9 ST g

b. TET (ATP) WS g1 Il ¢ o Ueb Fige /e # 3ol 34 gidi g ol
SIfRrH1 A B arelt St sfifsbarai &1 daiferd S gadl 21

c.qﬁﬁ? [p},?ruvate}aﬁfa’?(lactic) mﬂqﬁﬂﬁﬁﬁﬂmﬁﬁﬁf{ﬁfﬂq
Tal arert o] o 81

1 a,baﬁ?c
X2 Hadb AR ¢
X3 Had a

X4 $Hada AR b

Q.6

Ans

: Al A, B, C, D, E AR F Teb Trell Ul & IR BI 2R 78 H3h 696 8|

E & 1% AR U dad diF A 66 g1 B, E & alg 3R U G WM W 681 g1 A 3R C & g H dad di- fdd
IS5 €I C, D& 3ieh aT5 R 967 ¢

D 2R F & stg H fhad fGa 98 €2
X1 gt

2. Wﬂ_ﬁqﬁ

X3 UH

X 4. fﬂ:[
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Q7

Ans

i AT 2 + B BT 3R] - c BT 3 x, 3R D P13 = g, T FHAIRIT THIS0 # U8 7§ (7) & ™M W T
SATETT?

14B5C5A30D2=7
X1 3
X2 2
3 4
X4 1

Q.8

Ans

e Tl Ul gRT I 3H1G8H +0.75 8, a1 ufafds Har grm
X 1. gRdfdes, 3ael 3R BIel

X 2. qrEIdes, 3T 3R 98]

X3 STUIY], tem 3R &1

v 4 ST, ey 3R BieT

Q.9

Ans

39 710 BT AT F1d DIforg e &M 84 m ol
e =22 CAREIRIGEY

X 1.338,808 m?
X2 313418 m?
X3.323,434 m3
¥4 310,464 m?

Q.10

Ans

10% HR 5% HI G DB FC Bl Uhd @¢ & N g

<1 15%
¥ 2. 14.5%
X3 15.5%
X 4 14%

Qn

Ans

e MI3T FHE HINTH, "HAIR' Bl '9715' TeRaT Sl § 3R 'AGED' Bl '8612' ToRal Sl 8| 39 BHe HINT H A’ Bl bl
T Sreln 82

X7
X2 2
X3 8
s
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Q.12

Ans

ffafaa Sen-gml 8, uged! Tel R $8 R Wihan e gus We urd & 9idl 81 X 3R Y & »IF
R PIH-H GBAT S TR TS = & aT5 1R &l Tearefl gRI o Ue &1 SRl S 8, 34t Ued &1
SFIERUI = & Gl AR g1 Sra 81?7

(A & GHATHT &1 Ih 9 3l T SHTHT-fa faY fa1, gul Femmefl iR Sferant &1 ol =@nfgu) 3al. 13 -
T 13 R HIHUIU SR 13 Bl SIS AT/GCHI/AUN BT H1MG (a1 O Febdl 8113 Bl 1 AR 3 H S{eRT-3eR] B
BI AR T 1 2R 3 W O WiHAT H B SFHd ol 5 )

X:198:8:Y

1. X=06Y =488
X2 X=4Y=512
X3 X=7,Y=538
X4 X=5Y=>546

P RufaRad § I SH-91 Y Ted 82
M v S auf S BT pH 5.6 F 21 g1 dl 3T 2%y o Sed g
X 2. Sfifad ymft pH TRadH &1 $ad UP Yobiu] IRY J &1 ofifdd 38 &d g |
X 5. q aul Ofd &1 pH 5.6 T &H Bl Al 3 3Fi1g a9 ded ol
X 4 ST YE BT pH 5.5 Y HH 8 91T & ol aldl H T8 L= 8l ol g
ot U w9 YE | 65 faeul §, @ 5 Sgyw o1 yorelt B we fa e
Ans X114
X212
X310
v 413
15 R e PR RU AR S ST 1 e TR RY 192 g dgg 1 S o2 gk Ry i s v a1
Gﬁam%,ﬁwmﬁwﬁaﬁﬁ{ﬁsﬁmam%ﬁugg gl o7 2 1 FF & 3731 31R 8% BT 4HTdHSD 3R I1d
GAISY
Ans X 1. 7
X205
X3 3
s4 2
Q.16

Ans

Uh HITH! 3T AR i Bl ddlg 40% T 3R dIgls 20% FeTh &Fhd H g S 81 - &fld &1
SATGA QXM S0 & &Ahd U b Hia=id U 82

x 1.20%
«212%
% 3.8%
x 4.0%
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Q.17

Ans

g Ieq PAINTED o Udidh R &l 3ol qUiHEl o H H 39 918 aId &R U d5d f6a1 9Y 3R Ui o &
SISl qUiATe A H 38 Ugd did &R Y 90 (641 WY, o 59 UHR & H&RT o 10 948 H, a5 3R I de
WM TR ST &R g7

X1 M
X2 B
3 )
X4 F

Q.18

Ans

Had & ey o FEfiRad § 9 $H-91 $YT 9 62
o 1. Wﬂ@m (tetravalent) %I

X 2. e [F-UgMoll (trivalent) B
X 3. Wﬁ-ﬂﬁﬁﬁ (bivalent]%l

X 4. BIEd Uh-Ha6ll (monovalent) g.

Q.19

Ans

a1 W SrdHH (2023) § NS FI @uRoT GBI wU A Frafad 3 4 fra ® $ia 22
X 1. SIS SR RE

X 2. i fawrg

o 3. CHaral

X 4. ieplce TREf0T

Q.20

Ans

e iﬁ'CIST Eﬁq'g{ﬁ?%@ (Neeraj Chopra: The Man Who Made History)’ W%ﬁwaﬁq%‘?
& 1. R ST
X 2. gHR AgeT

o 3. T diae
X 4. 7ady Rig fra

Q.21

Ans

old & 3R G049 U af T o gi, af foear mar sl g
X 1. BUTHS

X2 T
v $FHAS

X 4 g1 q@ gD, T BUTHS

Q.22

Ans

SRS GUIATAT o8 & YR WR &l T 4@ | Uy 707 (7) & ®F R FafiRad § U SH-91 [deed o =nfge?

GIN, ILR, KNR, MPT, ?
X 1. ROV
X2 OVR
A 3. RVO
« 4 0ORV
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OB Rrgfefad difdies! o1 e P 3R Uy P IR S|

Ans

diferepT few 7w auf & ue ufaRr & =ag &1 <2id 21

Y (% H)
ay

Ho| |9 | TRren | T | o=
2011 |2000 |1200 |3300 |2000 |4000
2012 |2500 [1100 |3200 |2300 |4100

ay 2011 R 2012 & [T GRAR GRI HISH R $d Y (X 1) fdbar g2
X 1. 5,500
X 2. 5,000
v 4,500
X 4. 6,000

Q.24

Ans

What determines the chemical properties of a carbon compound?
X 1. Length of the carbon chain
+ 2. Functional group

X 3. Molecular mass

X 4. Number of Hydrogen atoms

Q.25

Ans

I UG- HfT yummel! 3T (Arka)’ 3R ‘3rSTOTHT (Arunika)’ BT T SUGIT 82
X 1. AR HifEar W sraifed IRl @ FRE @A

X 2. 3nufert &) srafufa 1 gar T

X 3. TIEER URTY BT YT TR

& 4. T gafgae

Q.26

Ans

2024 ®, TaR ARt dfvier Rig A I”@1 gEnay (@rg vaq) &
o 1. TSP 2% 3iTth § TR WIW (Deputy Chief of the Air Staff)
X 2. 9% 3 & TR WIH (Chief of the Air Staff)

X 3. dI% 3% f$TY €W (Chief of Defence Staff)
X 4. TR IR HHIST-Z3-3W (Air Officer Commanding-in-Chief)

BT UGHR Ugul fpari

Q.27

Ans

Seven boxes, P, Q, R. S, X, Y and Z, are kept one over the other but not necessarily in the same order. Only P is kept
above X. Only two boxes are kept between X and S. Only R is kept below Z. Y is not kept immediately above S. Which
box is kept fourth from the top?

X1 Z
X2 R
&3 Q
X4 X
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Q28 Sl qUiATE B H & SR W < TS 4Ee # w7 (7) $ ™ R FEiied 3 3 $H-91 fabed o ey
BFW, DIS, FLO, HOK,?
Ans w1 JRG
X 2. KRF
X 3. JSG
X 4. KQE

Q.29 3IAEER 2024 aF B FRUMY F AR, YFEIR YR IHTH (Corruption Perceptions Index) ¥ HRd BT RITH HI-1T 82
Ans X 1.89

& 2.93
X 3.9
X 4.86

0z frae My e
-
X 2 Had o d
v 5 TId, O, UIEH 311G |
X4 Haq i

Q.31

U g g v,

A+B @A A BH AT,
A—B' &1 'A BB HS T,
'Ax B &1 3 'A, B P Udl g 3R
A+ B @13 'A BT

M+ NxP-S+ T8 AMSBIT I F dde g2
K0 g f

v 2 B & HIS B! Tall & ol

X3 [ H U

X 4 T & HIS BT Tall BT U5



https://t.me/mathsbygaganpratap

Q.32

Ans

ffafaa Sen-gml 8, uged! Tel R $8 R Wihan e gus We urd & 9idl 81 X 3R Y & »IF
R PIH-H GBAT S TR TS = & aT5 1R &l Tearefl gRI o Ue &1 SRl S 8, 34t Ued &1
SFIERUI = & Gl AR g1 Sra 81?7

(A & GHATHT &1 Ih 9 3l T SHTHT-fa faY fa1, gul Femmefl iR Sferant &1 ol =@nfgu) 3al. 13 -
T 13 R HIHUIU SR 13 Bl SIS AT/GCHI/AUN BT H1MG (a1 O Febdl 8113 Bl 1 AR 3 H S{eRT-3eR] B
BI AR T 1 2R 3 W O WiHAT H B SFHd ol 5 )

X:1404:38:Y

X1 X=34Y=2258
X2 X=23Y=2406
3 X=26Y =2052
X4 X=21,Y=2184

Q.33

Ans

2SIl GUIHTAT HH & SATUR TR DGEH, ILM ¥ T [T YR ¥ S&lid g1 39 UbR GJHK, LOMP ¥ Jafdd g1
THH b BT TR0 $Xd gU, PSQT FHfaiad & ¥ oy e ¥ Wefid g2

<1 VUWY
« 2. UXVY
X 3. UVXZ
<4 UXWY

Q.34

Ans

glc 32,400 DI A AR B FH S 7: 5 & 2 Ud H f[Gaid foar S 8, T B &1 i I1d Sifeg|
X 1. 31,300
X 2. 31,900
v 3 31,000
X 4. 31,600

Q.35
Ans

TRa 2023 B YR QRTAE AT (AS]) §RT {5 URT 359 1,300 T GRIAT U WrelT T2
X 1. ARy
o 2. 3nfem
X 3.fosR
X 4. TfEm S

Q.36

Ans

Fraffed & § -1 520 & Sl &l U1 el 87
v TS HU R gl

X2 g% HUT P ag # Red ™F g g

X 3. 5o & DUl Uh-guR Bl ST Hd g

X 4. 5o & Ul AR o= 84 2
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Q.37

Ans

Magnetic field lines around a straight current carrying conductor look like:
X 1. ellipses

X 2. hyperbolas

X 3. straight lines

" 4. concentric circles

Q.38

Ans

2024 § I P T3 GUTAHAL -IRIT TS (Prime Minister’s Internship Scheme) & 84, SWHIGaIRI 3t Q¥ 12-9gH &t
: 3af & fore fpasit e=RIR &1 ATRY® aeiiwT e m?

% 1.32,000
X 2.%1,500
o 3. 35,000
X 4.%6,500

Q.39

Ans

U ST fashdl 30T A1 60 Hed TR 99+ &l G1a] Hdl 8, Widh Tad HR &1 3YART Hdl ¢ 3R 39 HHR
25% 1 TTH I bRl ¢ | 100 UTH & fe1U g fdva- UM &SI SUART Sl 67

X1 75gm
v 2 80gm
X3 85gm
X 4 70 gm

Q.40
Ans

JUTSIT THT T 90aT TWBVT Sragar 2024 W IR g3MTI Iureht 21! Frafefaa o | fra @a @ weafta 82
X 1. SRpedd

2. fhde

X 3. 98fiea

X 4. gt

Q.41

Ans

Ife eg PLANTED & U TR &I 3l gufaral oH # 30 91 a1d &R 9 9¢d a1 il 3R Udid u &l
UGl quiHTE A | I Ugal It #&R Y S 1341 9L, dl §9 UbR & 3H&R[ & U 9Hg H, &g 3R I die
RJF TR SHH-T1 2421 g7

X1 F
v2 B
X3 K
X4 C

Q.42

Ans

40 3R 60 ICRILT ATl 2 WiARILT & Ure Ao arel URUY &1 ged WieRTY [Ha-m grm?

<1100
2240
X3120
X4 420
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Q.43

Ans

Y g Pl 98 Hiford off 3T Je BT TR Bl ¢ ford Ues &l 801 <id [T 71U gl & &l 9=y gRI
G501 ST 8| Gl 70 GH UeH ol 3TERUI $d ¢ |

GTC : KWE

WFK : AIM

<1 LPA D KMV
<2 DGB: GLI
v 304G s
X4 JQP : MVW

Q.44

Ans

Od Tthg UHIRI Hid & [Ued TR TSl g dl dg 91 W1 # fauiiorg g1 oran 81 59 uRge 1 & [ 719 I 91 oftar
g7

v fagmu
xz.ﬁaﬁ:[
X5 3O
X4 faged

Q.45

Ans

T 8 kmy/h @1 916 T Il 81200 m &1 4 79 & B 34 a1 gug @i

X1 120 Ydbs
v 2 90 Udhs
X3 54 Yhs
X4 175 s

Q.46

Ans

SA U H U HYF & 916 | 3R || HHidd & PRAGAI Gl Ts o | D! HUF H ] Ts G STHSIRAl &1 T
AT 8T, 3R Sy H €1 18 AHBRI & YR | F2d &1 811 & difde ¥4 ¥ fu/fdd SRars/ararsd]
DI SHTER0T fhaT o1 F1feul

HY:

TS o & U 12186 S X, W 30 aenfiat &1 died €

PIAT;

. faenidial 1 59 /M &1 Ribad faererd & DR 3 S il

1. fenfifat 1 faenad Sis &1 91fgT SR fdt ger faerer © yamr o o arfgu|
K11 3R 11 G SRR R B

X 2. Had || ATT AT 8

X3 Al ARG 2ATHR0 HRAT 6

v 4 Had | TR A B |
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Q.47

Ans

I3 A, T3 B & ITR H g1 I3 C, €13 B & 4d H ¢ | T3 D, T3 C & YA H g1 T3 A, €T3 D & 3R~
gd H 81 T3 M, T3 C & IR H 81 T34 M & Tiuef H ¢34 D &1 Rl 1 82

< 1. gfgg

X2 g

X3 IW-gd

v 4 SIU-uigH

Q.48

Ans

HRT 3l U BT Bl 6 fod H Juf & Taharl § 3R FaldT 2hal 341 B & ¢ 767 H gul 2 Ul g1 3RT 3R

Fatar = 59 22,400 T gUT 31 WibR (41| 99 &1 Gerddl § 35 & 3 &7 1 quf & femn| sdiar & faa
AT febat 9T 82

X 1. 31,400
« 2. 3900

< 33800
X 4. 31,200

Q.49

Ans

Which tissue is responsible for movement in our body?

X 1. Connective tissue
X 2. Nervous tissue
X 3. Epithelial tissue

« 4. MNuscular tissue

Q.50

Ans

il 5q SR Y gl
X 1. 6-3'-\:[

X 2 afefETei
v WA

X 4. fqgaRid

Q.51

Ans

Feg ufvsa A B! 3afy F fIT 2150 FRIS F THYRA oIty HYT & 1Y YR | GEIay Ifed e wHa fa e
TATAH (IBCA) BT RITYAT BT Hopdl &

X139
X 2794
X 31098
o 4574

Q.52

Ans

SRS GUIHTET HH & YR R, FEftiEd TR &R -G08 gl H§ U dlF U Mg §oR 3 9601 § 3R 39 UHR
Uch GHE &1 & | SIF-J1 g7 39 9ig ¥ elfdd 181 82

(S S 3R 2HaR-THg, 2A&R-THE H oHl/ZaRT ST WS a1 Id RIF W TR 71 €1)

X 1. SL-WP

« 2 KD - OF

X 3. NG -RK

X4 AT —EX



https://t.me/mathsbygaganpratap

53w [AfEd Be HINTH, ‘MOUSE' & 74651 Tor@l ST 8, 'SPOKE' &1 '52418" foraT ST 8, 2R “PROUD” B

26394 TOGT ST 8| 381 e HINT H 'K I HY [oRaT ST
Ans X192

X2 1

X35

&4 8
Q54 YWhat type of reaction takes place when a single reactant breaks down into simpler products?
Ans 1. Decomposition

X 2. Displacement

X 3. Double displacement

X 4. Combination
Q35 et auidrar A & SR R, FufafEd ar 3eR-g9e @ § ¥ dF e FiEd oR § 99F € 2R 59 UBR

TP g S ¢ | SH-91 37 39 Wig Y efdd g1 g2

(P S 3T 2HaR-THg, 2A&R-THE H oHl/ART ST WS a1 3d RIF TR 1R 761 €1)
Ans X 1. DV -HZ

¢ 2 UM - ZN

X3 YQ-CU

X4 AS-EW
M 3 ITIE BT A FAT5T RO G99 U 1665 T BHIRIT &1 @i B o)
Ans

x 1. Uy Sl WG (Matthias Jakob Schleiden)

X 2. U Il 99 W3 aTeldh (Antonie van Leeuwenhoek)

x 3. ISR 4™ (Theodor Schwann)

o 4 NG &P (Robert Hooke)
Q37 Which of the following actions is responsible for the survival of species over time?
Ans

X 1. Conservation
« 2. Variation
X 3. Reproduction

X 4. Struggle
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Q.58

Ans

Wd I3 AICSR ol e W <1801 HIS UGS &, dl 59 Ueb 2R Febd oId & | T8 Ialexvl 7Ti o fo i W)
e g2

X1 OT BT IREUT

X 2. T I gERT gH
X 3. 71fd 1 e |
v 4 T1{d &1 Ygal gHq

Q.59

Ans

RydaR 2024 ¥, URa & 50 3= <marad A SN A Mt A 2023 # vE w2 R, o $x &) e fifsarw
WPHR AR ITS YFASH & aI) & Boll, Y3t 3R UTHS AFSRI Bt UgaH H & g TP a2 Wid §HTs (fact check unit -
FCU) AT #3 &1 RISR faar ur?

X 1. Rl 3= =mred
X 2. U = Irrad
& 3. 91 I AT
X 4. 959 S U™

Q.60

Ans

30 faenfifal &1 ue Fen 3 v udiern €11 12 fFenfifat & 19d uris 8o g, iR I fFenfifar & oigd urdis 75
€| Defl & 3f9d Ui fhaH a2

X 1. 56
X2 67
X 3. 87
V477

Q.61

Ans

=it faT 7Y FHoAT SR bl DI AT UieU| Y] HF & Tob faT T Hu= € =18 d FHIa: Jid a2l
T 2T UCTd 81 8 3R [0 31 § 6 SF-T1/@H-4 fay aiffs $9 9 f3u 70 HoF/a0 & SuR 2/8)

PY-:
®Ig P, YR el €
Ul R, yaR ¢

sy
() $F U, YR €|
(1) BIS TR, T e g

X1 Ry (1) SR AT (1) STHR0I SR §
v 2 Had By (1) SR BT ©

X 3. Haq (smy (1) TR H ©

X 4 TSy (1) 2R (1) ST SR R4 §
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Q.62

60 2R 90 & e I THT 2rHTT 31T BT I 947 82

Ans X 1. 460
V2 523
X3 610
X4 373
Q.63

From a point on the ground, the angles of elevation of the top and the bottom of a flag that is mounted on an 18 m high
pole, are respectively 60° and 30°. The height of the flag is:

Ans <148 m
¥ 2 36m
X3 52m
A4 60 m
Q.64

Ans

O o U] H gISgior d HlFHIo URASH! o GHF & 3FUrd (H:0) FMafiiad § 9 &--91 g2
X1.3:8
x21:2
+3.1:8
X4 1:4

Q.65

Ans

S ARl & Uh THE T 4oy, AiRand ofR o= iid &1 378 J 40% J99 €, 35% ARd § ofR (N &= g, 3R
IHT AT HR HH: 70 kg, 60 kg 3R 30 kg & | THE BT 3190 YR fba g2

X 1. 46.5 kg
X 2. 45.5 kg
X 3. 555kg
v 4. 56.5 kg

Q.66

Ans

&1 715 g J uy K97 (7) & ®IM R Fufaied d 9 SH-91 fdded o1 91ige?

45918347
X 1. 54
2 59
X 3. 60
X 4. 52

Q.67

Ans

FI I & og He & Utefi H U [aoped] g o @I R &l fabed! SiS! (efsl/al- T80T auT 7iiei/SIaR &) ®1 328 B &
ToTY Genaor ST wie?

X 1. S F1 (UYH Fdfd) T 91 aTd o Ui 81 & 3R 99 FRIGR i ard Bi Ule 8id 8
X 2. pp (fgdho Tafa) Uit # 3 9t dd & SR g &9 9t 21 &

v 3. Tel/all T YT TMil/3EIGR &0 WA T 9 U gld &

X 4. Tidll/aT TTE0T T TMeT/ZRIGR &0 TRTEH: dRITd 8id &
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Q.68

Ans

1988 T Ush RER I SEBAT 50,000 41| U a8 H, 1989 Tb, THH 25% DI 9iG G| T a4 1990 T 3HH 30%
&I HHT 35 | 3T T 1991 H, TTH 40% D1 3G g3 1991 & 3id H S EReA1 favait o

X 162,250
2 61,250
X 3. 66,550
X 4. 60,250

Q.69

Ans

x =-1Wx2—5 DA HAE?
X1 -5
X2 -2
V3 -4
X4 -1

Q.70

Ans

FofafEa d S S-S gBar 7 @R 11 AT 9 fAvrsT 22
X 1. 2534
X 2. 2684
v 5 1771
X 4. 3014

Q.71

Ans

J0.0016 x 3/8000000 T A &1 82
X116

X2 08

X3 16

v 8

Q.72

Ans

g A &1 2 = BT o xBTS 4, 3R D T o - §, o el aftieRo ® u fug v & wiM
TR T T

144 C44D 12 A 12 B 144=7

X 1. 43

X2 54

X334

V4 A4

Q.73

Ans

afe g T ot T qfs sar & R 2 au( & o7E o eI 39 SRR b1 22 T1 &1 Wit g, <t wfer
IS &1 &R a1l gRil?

X 1. 30%
< 2. 40%
3. 50%
X4 25%



https://t.me/mathsbygaganpratap

Q.74

Ans

A AfE A, B, C, D, E, F 3R G Udh Ufdd H IR & 3R @ b 48 g1 A 3R F & §id dhadl Uid Hfdd 66 g
G, F & &5 3R Y AR RIF W &3 8| E, B 3R F Bl Mdhead US| C, G &l [Mdbead Usil 78! g

C 3R E & S fder aidd 98 82
X1 Th

X2 TR

& 3. —Cﬁ:[

X 4. Eﬁ

Q.75

Ans
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